DELHI PUBLIC SCHOOL, JAMMU
SESSION (2025-2026)
ASSIGNMENT II

CLASS -VI1 SUBJECT: SCIENCE
Q1. Which of these adaptations helps to keep animals cool?

a) Big thin ears b) Thick eye lashes

¢) Scales on the body. d) Thick fur on the body.

The picture shown below are some animals.
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Ant Earthworm Snail Starfish
Q2 Which animals in the picture live in the same habitat?
a)Starfish and snail. b) Earthworm and snail
c)Earthworm, ant and snail d) Starfish, snail, earthworm
Q3.Which is common to all animals in the picture:
a)They all are insects. b) They all lay eggs.
c)They all respond to stimuli. d) None of these.

Assertion (A) Reason (R) Based Questions
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) A is true but R is false.
d) A is false but R is true.
Q4. Assertion(A): Cactus grows well in deserts.
Reason(R): Cactus has spines instead of leaves to reduce water loss.
QS. Assertion(A): Fish cannot survive outside water.
Reason( R): Fish breathe through gills.

The table lists four different groups of plants and their features & the picture shows a garden plant.

Plant Group | Height | Stem

Group 1 Short Green and very weak
Group 2 Short Green and soft
Group 3 Medium | Brown and hard

Group 4 Tall Brown and very hard

Q6 Which group does the garden plant belong to

a)Group 1 c) Group 2
b) Group 3 d) Group 4
Q7 Which group of plants most likely needs support to grow?
a)Group 1 c) Group 2
b) Group 3 d) Group 4

Q8.Draw aquatic animal- fish and label its adaptations.






